Trig Unit Word Problems Name:

Solve the following word problems. For each question, draw a diagram to help you.

1.

An airplane is flying at an altitude of 6000 m over the ocean directly toward a coastline. At a certain
time, the angle of depression to the coastline from the airplane is 14°. How much farther (to the
nearest kilometer) does the airplane have to fly before it is directly above the coastline?

From a horizontal distance of 80.0 m, the angle of elevation to the top of a flagpole is 18°. Calculate
the height of the flagpole to the nearest tenth of a metre.

A 9.0 m ladder rests against the side of a wall. The bottom of the ladder is 1.5 m from the base of the
wall. Determine the measure of the angle between the ladder and the ground, to the nearest degree.

The angle of elevation of the sun is 68° when a tree casts a shadow 14.3 m long. How tall is the tree,
to the nearest tenth of a metre?

A wheelchair ramp is 4.2 m long. It rises 0.7 m. What is its angle of inclination to the nearest
degree?

A person flying a kite has released 176 m of string. The string makes an angle of 27° with the
ground. How high is the kite? How far away is the kite horizontally? Answer to the nearest metre.



7. Tara leaned a 17 foot ladder against the house. The bottom of the ladder
is 8 feet from the house. How high up the side of the house is the top of
the ladder?

8. If the diagonal of a rectangle measures 60 inches and one side measures
48 inches, what is the length of the other side of the rectangle?

9. The size of a television screen is given by the length of the diagonal of
the screen. What size is a television screen that is 21.6 inches wide and
16.2 inches high?

10. In triangle MNO, the measure of £ZN is 90°, NO=27, and MO=38. Triangle XYZ is
similar to triangle MNO, where vertices X, Y, and Z correspond to vertices M, N,
and O, respectively, and each side of the triangle XYZ is ¥ the length of the
corresponding side of triangle MNO. What is the value of sin Z7?



